Note di Matematica Note Mat. **30** (2010) no. 2, 61–71.

# Two Modular Equations for Squares of the Cubic-functions with Applications

### K.R. Vasuki, G. Sharath<sup>i</sup>

Department of Studies in Mathematics, University of Mysore, Manasagangotri, Mysore-570 006 INDIA vasuki\_kr@hotmail.com

### K.R. Rajanna

Department of Mathematics, MVJ College of Engineering, Channasandra, Bangalore-560 067, INDIA. rajukarp@yahoo.com

Received: 4.12.2009; accepted: 8.2.2010.

**Abstract.** In this paper, we derive two modular identities for cubic functions and are shown to be connected to the Ramanujan cubic continued fraction G(q). Also we have derived many theta function identities which play an important role in proving Ramanujan's modular equations of degree 3.

**Keywords:** Cubic function, Ramanujan cubic continued fraction, Theta function identities related to modular equations of degree 3.

MSC 2000 classification: Primary 33D90, Secondary 11A55.

# 1 Introduction

In the sequel, we always assume that |q| < 1. For any complex number a, we employ the standard notation

$$(a;q)_{\infty} := \prod_{n=0}^{\infty} (1 - aq^n).$$

The Ramanujan's general theta function [2] is defined by

$$f(a,b) := \sum_{n=-\infty}^{\infty} a^{n(n+1)/2} b^{n(n-1)/2}$$

$$= (-a;ab)_{\infty}(-b;ab)_{\infty}(ab;ab)_{\infty}$$

where |ab| < 1. Evidently, f(a, b) = f(b, a). Certain special cases of f(a, b) are defined by

$$\varphi(q) := f(q,q) = \sum_{n=-\infty}^{\infty} q^{n^2} = \frac{(-q;-q)_{\infty}}{(q;-q)_{\infty}},$$

 $^{\rm i}{\rm DST},$  New Delhi for awarding research project [No. SR/S4/MS:517/08] under which this work has been done.

http://siba-ese.unisalento.it/ © 2010 Università del Salento

$$\psi(q) := f(q, q^3) = \sum_{n=0}^{\infty} q^{n(n+1)/2} = \frac{(q^2; q^2)_{\infty}}{(q; q^2)_{\infty}},$$
$$f(-q) := f(-q, -q^2) = \sum_{n=-\infty}^{\infty} (-1)^n q^{n(3n-1)/2} = (q; q)_{\infty}$$

and

 $\chi(-q) := (q;q^2)_{\infty}.$ 

For convenience, denote  $f(-q^n)$  by  $f_n$  for positive integer n. It is easy to see that

$$\varphi(q) = \frac{f_2^5}{f_1^2 f_4^2}, \qquad \varphi(-q) = \frac{f_1^2}{f_2}, \qquad \psi(q) = \frac{f_2^2}{f_1},$$

$$(q) = \frac{f_2^3}{f_1 f_4}, \qquad \psi(-q) = \frac{f_1 f_4}{f_2}, \qquad \chi(q) = \frac{f_2^2}{f_1 f_4} \qquad \text{and} \qquad \chi(-q) = \frac{f_1}{f_2}. \tag{1.1}$$

The Rogers-Ramanujan functions are defined as

$$G(q) := \sum_{n=0}^{\infty} \frac{q^{n^2}}{(q;q)_n} = \frac{1}{(q;q^5)_{\infty}(q^4;q^5)_{\infty}}$$
(1.2)

and

f

$$H(q) := \sum_{n=0}^{\infty} \frac{q^{n^2+n}}{(q;q)_n} = \frac{1}{(q^2;q^5)_{\infty}(q^3;q^5)_{\infty}},$$
(1.3)

where the two equalities on the right of (1.2) and (1.3) are the celebrated Rogers-Ramanujan identities. Fourty modular relations for G(q) and H(q) were found by Ramanujan [12] and are known as Ramanujan's fourty identities. For a history of the forty identities as well as many proofs, see the excellent monograph [5] of B. C. Berndt, et. al. In his Ph. D thesis [13], S. Robins used a computer and the theory of modular forms to discover and prove following new relations for G(q) and H(q), which are analogus to Ramanujan forty identities:

$$G^{2}(q)H(q^{2}) - H^{2}(q)G(q^{2}) = 2qH(q)H^{2}(q^{2})\frac{f_{10}^{2}}{f_{5}^{2}}$$
(1.4)

and

$$G^{2}(q)H(q^{2}) + H^{2}(q)G(q^{2}) = 2G(q)G^{2}(q^{2})\frac{f_{10}^{2}}{f_{5}^{2}}.$$
(1.5)

B. Gordon and R. J. McIntosh [8] have proved (1.4) and (1.5) by employing the following identity due to D. Hickerson [10]:

$$j(-x,q)j(y,q) - j(x,q)j(-y,q) = 2xj(x^{-1}y,q^2)j(qxy,q^2),$$
(1.6)

where

$$j(x,q) = (x;q)_{\infty}(q/x;q)_{\infty}(q;q)_{\infty}.$$

The identity (1.6) is the generalization to following identities of Ramanujan [11], [4, Entry 29, p. 45]

**Theorem 1.1.** If ab = cd, then

$$f(a,b)f(c,d) + f(-a,-b)f(-c,-d) = f(ac,bd)f(ad,bc)$$
(1.7)

and

$$f(a,b)f(c,d) - f(-a,-b)f(-c,-d) = 2af\left(\frac{b}{c},ac^2d\right)f\left(\frac{b}{d},acd^2\right).$$
(1.8)

62

Recently, C. Gugg [9], has obtained an alternating proof of (1.4) and (1.5) and established many interesting results from them related to the following famous Rogers-Ramanujan continued fraction:

$$R(q) := \frac{q^{1/5}}{1} + \frac{q}{1} + \frac{q^2}{1} + \frac{q^3}{1} + \cdots$$
(1.9)

And also, C. Gugg [9] employed (1.4) and (1.5) to give a new proof of five identities of Ramanujan's forty identities and obtained four new identities which are are analogous to Ramanujan's forty identities.

On page 366 of his Lost Notebook [11], Ramanujan investigated another continued fraction

$$G(q) := \frac{q^{1/3}}{1} + \frac{q + q^2}{1} + \frac{q^2 + q^4}{1} + \frac{q^3 + q^6}{1} + \dots$$
(1.10)

and claimed that there are many results of G(q) which are analogous to those of (1.9). The continued fraction (1.10) is now famous as Ramanujan's cubic continued fraction. Motivated by Ramanujan's claim, H. H. Chan [6] established many identities for G(q).

In this paper, we consider the following two analogous functions of the Rogers-Ramanujan functions (1.2) and (1.3):

$$L(q) := \sum_{n=0}^{\infty} \frac{q^{n^2 + 2n} (-q; q^2)_n}{(q^4; q^4)_n} = \frac{f(-q, -q^5)}{\psi(-q)}$$
(1.11)

and

$$M(q) := \sum_{n=0}^{\infty} \frac{q^{n^2}(-q;q^2)_n}{(q^4;q^4)_n} = \frac{f(-q^3,-q^3)}{\psi(-q)}.$$
(1.12)

The two inequalities on the right of (1.11) and (1.12) are the cubic identities due to G. E. Andrews [1] and L. J. Slater [15] respectively. Andrews [1] shown that

$$G(q) := q^{1/3} \frac{L(q)}{M(q)} = q^{1/3} \frac{\chi(-q)}{\chi^3(-q^3)}.$$
(1.13)

In this paper, we derive following two modular relation for L(q) and M(q) due to W. Chu [7], which are analogous to (1.4) and (1.5):

$$L(q^{2})M^{2}(q) - L^{2}(q)M(q^{2}) = 2q \frac{f_{3}f_{2}^{2}f_{12}^{5}}{f_{1}f_{6}^{3}f_{4}^{3}f_{8}}$$
(1.14)

and

$$L(q^{2})M^{2}(q) + L^{2}(q)M(q^{2}) = 2\frac{f_{3}f_{4}f_{12}}{f_{1}f_{6}f_{8}}.$$
(1.15)

We derive four modular relations for L(q) and M(q) by employing (1.14) and (1.15). Also, we derive many theta function identities and also certain identities for G(q). We close this section by noting the following:

$$L(q) := \frac{f_6^2}{f_4 f_3}$$
 and  $M(q) := \frac{f_3^2 f_2}{f_1 f_4 f_6}$ . (1.16)

#### 2 Main Theorem

Lemma 2.1. We have

$$L(q^{2}) = \frac{\varphi(-q^{4})}{\varphi(-q^{6})}L(q)L(-q)$$
(2.1)

63

and

$$M(q^{2}) = \frac{\varphi(-q^{4})}{\varphi(-q^{6})} M(q) M(-q).$$
(2.2)

**Proof.** From Entry 25(iii) of Chapter 16 [4, p. 40], we have

$$\psi(q)\psi(-q) = \psi(q^2)\varphi(-q^2) \tag{2.3}$$

and

$$\varphi(q)\varphi(-q) = \varphi^2(-q^2). \tag{2.4}$$

Also from Entry 24(i) of Chapter 16 [4, p. 39], we have

$$\frac{\psi(q)}{\psi(-q)} = \sqrt{\frac{\varphi(q)}{\varphi(-q)}}.$$
(2.5)

By definition of L(q), we have

$$L(q^2) = \frac{f(-q^2, -q^{10})}{\psi(-q^2)}.$$

Now using the definition f(a, b) and using the simple fact

$$(q^{2n};q^{2m})_{\infty} = (-q^n;q^m)_{\infty}(q^n;q^m)_{\infty}$$

in the above, we find that

$$L(q^2) = \frac{\psi(-q)\psi(q)L(q)L(-q)}{\psi(-q^2)}$$

Using (2.3), we have

$$\begin{split} L(q^2) &= \frac{\psi(q^2)\varphi(-q^2)}{\psi(-q^2)\varphi(-q^6)}L(q)L(-q) \\ &= \sqrt{\frac{\varphi(q^2)}{\varphi(-q^2)}}\frac{\varphi(-q^2)}{\varphi(-q^6)}L(q)L(-q) \\ &= \frac{\varphi(-q^4)}{\varphi(-q^6)}L(q)L(-q), \end{split}$$

where we have successively applied (2.3), (2.5) and (2.4). This proves (2.1). The proof of (2.2) is similar.

Lemma 2.2. We have

(i) 
$$L(-q)M(q) - L(q)M(-q) = 2q \frac{f_2 f_{12}^4}{f_4^3 f_6^2}$$
 (2.6)

and

(ii) 
$$L(-q)M(q) + L(q)M(-q) = 2\frac{f_4}{f_2}.$$
 (2.7)

**Proof.** Setting a = q,  $b = q^5$ ,  $c = -q^3$ ,  $d = -q^3$  in (1.8), we find that

$$f(q,q^5)f(-q^3,-q^3) - f(-q,-q^5)f(q^3,q^3) = 2qf^2(-q^2,-q^{10}).$$
(2.8)

Now, using (1.11) and (1.12), in the above, we have

$$L(-q)M(q) - L(q)M(-q) = 2q \frac{\psi^2(-q)L^2(-q^2)}{\psi(q)\psi(-q)}.$$
(2.9)

64

Employing (1.1) and (1.16) in the right of the above, we obtain (2.6). Similarly by setting  $a = q, b = q^5, c = -q^3$  and  $d = -q^3$  in (1.7) and then using (1.1) and (1.16), we obtain (2.7).

**Theorem 2.3**. The identities (1.14) and (1.15) hold.

**Proof.** Using (2.1) and (2.2) in (2.6) and then using (1.1) and (1.16), we obtain (1.14). Using (2.1) and (2.2) in (2.7) and then using (1.1) and (1.16), we deduce (1.15).

#### Applications of (1.14) and (1.15). 3

Let

$$u := G(q), \qquad v := G(q^2), \qquad w := G(-q) \quad and \quad k = \frac{u^2}{v}.$$

**Theorem 3.1**. (Chan[6]). We have

(i) 
$$u + w + 2u^2w^2 = 0$$
 (3.1)

and

(*ii*) 
$$u^2 - v + 2v^2u = 0.$$
 (3.2)

**Proof.** From (1.13), we have

$$u = q^{1/3} \frac{L(q)}{M(q)}$$
 and  $w = -q^{1/3} \frac{L(-q)}{M(-q)}$ .

Dividing (2.6) throughout by  $q^{-1/3}M(q)M(-q)$ , and using the above, we find that

$$u + w = 2q^{4/3} \frac{f_2 f_{12}^4}{f_4^3 f_6^2 M(q) M(-q)}.$$
(3.3)

From (1.16) and (1.1), we deduce that

$$\frac{f_2 f_{12}^4}{f_4^2 f_6^2} = \frac{L^2(q) L^2(-q)}{M(q) M(-q)}.$$

Using this in the right of (3.3), we deduce (3.1). It is easy to see from (1.16) that

$$\frac{f_3 f_2^2 f_{12}^5}{f_1 f_6^3 f_4^3 f_8} = \frac{L(q) L^2(q) M(q)}{M(q^2)}$$

Dividing (1.14) throughout by  $q^{-2/3}M^2(q)M(q^2)$ , and employing the above, we obtain (3.2).

Theorem 3.2. We have

$$\frac{1+k}{1-k} = \frac{\psi^2(q^2)}{q\psi^2(q^6)}.$$
(3.4)

**Proof.** From (1.14) and (1.15), we find that

$$\frac{1 + \frac{L^2(q)M(q^2)}{M^2(q)L(q^2)}}{1 - \frac{L^2(q)M(q^2)}{M^2(q)L(q^2)}} = \frac{f_4^4 f_6^2}{q f_2^2 f_{12}^4}$$

Using (1.1) in the right of the above identity and by definition of k, we obtain

$$\frac{1+k}{1-k} = \frac{\psi^2(q^2)}{q\psi^2(q^6)}.$$

This proves (3.4).

Theorem 3.3. We have

$$1 + \frac{1}{u^3} = \frac{\psi^4(q)}{q\psi^4(q^3)},\tag{3.5}$$

$$v^3 = \frac{(1-k)^2}{4k},\tag{3.6}$$

$$u^3 = \frac{k(1-k)}{2},\tag{3.7}$$

$$1 - 8u^3 = \frac{\varphi^4(-q)}{\varphi^4(-q^3)},\tag{3.8}$$

and

$$2k - 1 = \frac{\varphi^2(-q)}{\varphi^2(-q^3)}.$$
(3.9)

The identity (3.5) is recorded by Ramanujan in his notebook [11, p. 24] and is proved by Berndt [4, p. 346]. The identity (3.8) is due to Berndt [4, p. 347].

**Proof of (3.5)**. Squaring both sides of (3.4) and then subtracting by -1 on both sides, we find that

$$\frac{\psi^4(q^2)}{q^2\psi^4(q^6)} - 1 = \frac{4vu^2}{(v-u^2)^2}.$$

Using (3.2) in the denominator of right of the above identity, we obtain

$$\frac{\psi^4(q^2)}{q^2\psi^4(q^6)} - 1 = \frac{1}{v^3}.$$
(3.10)

Changing q to  $q^{1/2}$  in the above, we obtain (3.5).

**Proof of (3.6)**. From (3.10) and (3.4), we have

$$1 + \frac{1}{v^3} = \left(\frac{1+k}{1-k}\right)^2$$

which implies

$$v^3 = \frac{(1-k)^2}{4k}.$$

**Proof of (3.7)**. By the definition of k,  $v = u^2/k$ . Using this in (3.6), then taking square root on both sides, we obtain (3.7).

**Proof of (3.8)**. From (1.1), we see that

$$\frac{\varphi^4(q)}{\varphi^4(q^3)} = \frac{\psi^8(q)}{\psi^8(q^3)} \cdot \frac{\psi^4(q^6)}{\psi^4(q^2)}.$$

Using (3.5) and (3.10) in the right of the above identity

$$\frac{\varphi^4(q)}{\varphi^4(q^3)} = \frac{v^3}{u^6} \left[ \frac{(1+u^3)^2}{1+v^3} \right].$$

Now using (3.6) and (3.7), we find that

$$\frac{\varphi^4(q)}{\varphi^4(q^3)} = \left(1 - \frac{2}{k}\right)^2$$
$$= 1 - \frac{4}{k^2}(1 - k)$$
$$= 1 - 8\frac{u^3}{k^3}$$
$$= 1 - 8\frac{v^3}{u^3}$$
$$= 1 + 8w^3,$$

where, we have successively applied (3.7), definition of k, v = -uw. Changing q to -q, we obtain (3.8).

**Proof of (3.9)**. Using (3.7) in (3.8), we obtain

$$\frac{\varphi^4(-q)}{\varphi^4(-q^3)} = (2k-1)^2,$$

which is equivalent to (3.9).

Theorem 3.4. We have

(i) 
$$M(q)M(q^2) - 2qL(q)L(q^2) = \frac{L^2(q)M^2(q^2)}{L(q^2)M(q)}$$
 (3.11)

and

(*ii*) 
$$M(q)M(q^2) + 2qL(q)L(q^2) = \frac{\varphi^2(q)}{\varphi^2(q^3)} \frac{L^2(q)M^2(q^2)}{M(q)L(q^2)}.$$
 (3.12)

**Proof of (i).** The identity (3.11) is equivalent to (3.2).

**Proof of (ii)**. From (3.9) and definition of k, we have

$$2u^{2} - v = v \frac{\varphi^{2}(-q)}{\varphi^{2}(-q^{3})}.$$

Changing q to -q in the above, we deduce that

$$2w^2 - v = v \frac{\varphi^2(q)}{\varphi^2(q^3)}.$$

Using v = -uw, we see that

2 
$$\frac{v^2}{u^2} - v = v \frac{\varphi^2(q)}{\varphi^2(q^3)},$$
  
 $2v - u^2 = u^2 \frac{\varphi^2(q)}{\varphi^2(q^3)}.$ 

which is equivalent to

Using (3.2) in the above, we get

$$1 + 2uv = \frac{u^2}{v} \frac{\varphi^2(q)}{\varphi^2(q^3)}$$

which is readily equivalent to (3.12).

Theorem 3.5. We have

(i) 
$$\varphi^2(q) + \varphi^2(q^3) = 2\varphi^2(q^3)\frac{v}{u^2},$$
 (3.13)

(ii) 
$$\varphi^2(q) - \varphi^2(q^3) = 4\varphi^2(q^3)\frac{v^2}{u}$$
 (3.14)

and

(iii) 
$$\psi^2(q^2) + q\psi^2(q^6) = q\psi^2(q^6)\frac{1}{uv}.$$
 (3.15)

The identities (3.13) and (3.14) are due to Shen [14]. For an alternative proof of (3.13) and (3.14) one may refer Baruah [3] and Baruah [2] respectively. The identity (3.15) is due to Baruah [3].

**Proof of (i)**. Dividing (3.12) by (3.11) and using the definitions of u and v, we get

$$\frac{1+2uv}{1-2uv} = \frac{\varphi^2(q)}{\varphi^2(q^3)}.$$
(3.16)

Adding 1 on both sides of the above identity, we obtain

$$\varphi^2(q) + \varphi^2(q^3) = \frac{2}{1 - 2uv}\varphi^2(q^3).$$

Now using (3.11) and (1.13) in the denominator of the right hand side of the above, we deduce the required result.

**Proof of (ii)**. Subtracting 1 from both sides of (3.16) and using (3.11) and (1.13) on the righthand side, we obtain (3.14).

**Proof of (iii)**. Adding 1 to both sides of (3.4) and then simplifying , we see that

$$\psi^2(q^2) + q\psi^2(q^6) = 2q\psi^2(q^6)\frac{1}{1-k}$$

Now using (3.7) in the denominator of the right hand side of the above, we deduce the required result.

Theorem 3.6. We have

(i) 
$$\varphi^2(q) + 3\varphi^2(q^3) = 4\frac{\varphi(q^3)\psi^3(q)}{\varphi(q)\psi(q^3)},$$

(ii) 
$$\varphi^2(q) - 3\varphi^2(q^3) = -2\frac{\varphi(q^3)\varphi^3(-q^2)}{\varphi(q)\varphi(-q^6)}$$

and

(iii) 
$$\psi^2(q^2) - 3q\psi^2(q^6) = \psi^2(q^6) \frac{\varphi^2(-q)\chi^3(-q^3)\chi^3(-q^6)}{\varphi^2(-q^3)\chi(-q)\chi(-q^2)}.$$

**Proof of (i)**. Adding 3 on both sides of (3.16), we see that

$$\frac{4(1-uv)}{1-2uv} = \frac{\varphi^2(q)}{\varphi^2(q^3)} + 3.$$
(3.17)

Also note that (3.2) can be rewritten as

$$1 - uv = \frac{(v + u^2)}{2v}.$$

Now using (1.13) in the right hand side of the above and then employing (1.15) and (1.16), we obtain 2 .0

$$1 - uv = \frac{f_1 f_3^3 f_6^2}{f_2^2 f_3^3 f_{12}}.$$
(3.18)

Next, using (3.11), (1.13) and (1.16) along with (3.18) in the left hand side of (3.17), we see that

$$\frac{\varphi^2(q)}{\varphi^2(q^3)} + 3 = \frac{f_2 f_3^3 f_4^2 f_{12}^2}{f_1 f_6^7} \tag{3.19}$$

which is equivalent to the required result upon using (1.1).

**Proof of (ii)**. Adding -9 on both sides of (3.8), we see that

$$-8(1+u^3) = \frac{\varphi^4(-q)}{\varphi^4(-q^3)} - 9.$$

Using (3.5) in the left hand side of the above and then changing q to -q, we obtain

$$8\frac{\psi^4(-q)}{q\psi^4(-q^3)}w^3 = \frac{\varphi^4(q)}{\varphi^4(q^3)} - 9.$$

Now substituting  $w = -\frac{v}{u}$  and using (1.13) in the left hand side of the above, we see that

$$-8\frac{\psi^4(-q)}{\psi^4(-q^3)}\frac{L^2(q^2)}{M^2(q^2)}\frac{M^3(q)}{L^3(q)} = \frac{\varphi^4(q)}{\varphi^4(q^3)} - 9,$$

which can be rewritten as

$$\frac{\varphi^4(q)}{\varphi^4(q^3)} - 9 = -8 \frac{f_1 f_2^2 f_3^5 f_4 f_{12}^5}{f_6^{14}}$$
(3.20)

on using (1.1) and (1.16). Dividing (3.20) by (3.19), we obtain

$$\frac{\varphi^2(q)}{\varphi^2(q^3)} - 3 = -2\frac{f_1^2 f_2 f_3^2 f_{12}^3}{f_6^7 f_4},$$

which on using (1.1) can be rewritten as

$$\frac{\varphi^2(q)}{\varphi^2(q^3)} - 3 = -2\frac{\varphi^3(-q^2)}{\varphi(q^3)\varphi(q)\varphi(-q^6)}.$$

The above expression on simplification yields the required result.

**Proof of (iii)**. Subtracting 3 from both sides of (3.4), we get

$$\frac{2(2k-1)}{1-k} = \frac{\psi^2(q^2)}{q\psi^2(q^6)} - 3.$$

Now employing (3.9) and (3.7) in the above, we see that

$$\frac{\varphi^2(-q)}{\varphi^2(-q^3)}\frac{1}{uv} = \frac{\psi^2(q^2)}{q\psi^2(q^6)} - 3.$$

Simplifying the above and on using (1.13), we obtain the required result.

Acknowledgements. Authors are thankful to referee for his/her useful comments to improve the paper. The first and the second authors are thankful to DST, New Delhi for awarding research project[No. SR/S4/MS:517/08] under which this work has been done.

## References

- G. E. ANDREWS: An Introduction to Ramanujan's "LOST" Notebook, Amer. Math. Monthly, 86 (1979), 89–108.
- [2] N. D. BARUAH, J. BORA: New proofs of Ramanujan's modular equations of degree 9, Indian J. of Math., 47 (2005), 99-122.
- [3] N. D. BARUAH, R. BARMAN: Certain Theta-Function identities and Ramanujan's Modular Equations of Degree 3, Indian J. of Math., 48 (2006), 113–133.
- [4] B. C. BERNDT: Ramanujan's Notebooks, Part III, Springer-Verlag, NewYork 1991.
- [5] B. C. BERNDT, G. CHOI, Y.-S. CHOI, H. HAHN, B. P. YEAP, A. J. YEE, H. YESILYURT, J. YI: Ramanujan's fourty identities for the Rogers-Ramanujan fuctions, Mem. Am. Math. Soc., 188 (880), 96 (2007).
- [6] H. H. CHAN: On Ramanujan's cubic continued fraction, Acta Arith., 73 (4) (1995), 343-355.
- [7] W. CHU: Common source of numerous theta function identities, Glasgow Math. J., 49 (2007), 61–79.
- [8] B. GORDAN, R. J. MCINTOSH: Modular transformation of Ramanujan's fifth and seventh order mock theta functions, Ramanujan J., 7 (2003), 193–222.
- [9] C. GUGG: Two modular equations for squares of the Rogers-Ramanujan functions with applications, Ramanujan J., 18 (2009), 183–207.
- [10] D. HICKERSON: A proof of mock theta conjectures, Invent. Math., 94 (1988), 639-660.
- [11] S. RAMANUJAN: Notebooks (2 volumns), Tata Institute of Fundamental Research, Bombay (1957).
- [12] S. RAMANUJAN: The Lost Notebook and other unpublished papers, Narosa, New Delhi (1988).
- [13] S. ROBINS: Arithmetic Properties of modular forms. Ph. D. Thesis, University of California at Los Angeles (1991).

- [14] L. C. SHEN On the modular equations of Degree 3, Proc. Amer. Math. Soc., 122 (1994), 1101–1114.
- [15] L. J. SLATER: Further identities of the Rogers-Ramanujan type, Proc. London Math. Soc., 54 (1952), 147–167.